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Topic:- General Knowledge and Logical Knowledge

1) When was the last telegram sent in India? / HRd T SEt THTH HF VST 7T UT?
1. June 14,2013 / 14 5[, 2013

2. August 1,2013 / 1 37, 2013

3. July 14,2013 / 14 S[TTS, 2013

4. July 30,2013 / 30 §§1|§, 2013

Correct Answer :-

« July 14,2013 / 14 §[TTS, 2013

2) Which High Court has recognized Ganga and Yamuna rivers as living entities? / g = =T A

T SR T At B shifad wwreh & wu ¥ ar=uar € 22
1. Allahabad High Court / SCIlgIdlq S <A1

2. Jharkhand High Court / SIRES 3= AR

3. Uttarakhand High Court / STRIGS 3= IR

4. Madhya Pradesh High Court / H&3 USRI 3= <raTag

Correct Answer :-

« Uttarakhand High Court / 3TRRES 3= TR

3) What does GST stand for? / STTTHC] BT T AT0Y &2
1. Goods and Services Tax / W@ﬂ%%ﬂﬂ
2. Gold and Silver Tax / TS i RicaR T

3. Green Stick Tax / T e ¢
(2)



4. Good and Simple Tax / T[S 3R Rud cog

Correct Answer :-

« Goods and Services Tax / S TS IidT o

4) If TRIPPLE is coded SQHOOKD, then how is '"PEOPLE' coded? / gfe TRIPPLE ) SQHOOKD T

FIfSd forar oirar 8, @Y 'PEOPLE' &1 & Sifsd forar s
1. ODPOKD
2. OFNOKD
3. ODNOKD

4. ODBOMD

Correct Answer :-

« ODNOKD

5) The Indian Army has been divided into Commands. / RO IT &Y
FUigy # fyurioe fFar man 31

1. Seven / HId
2. Nine / :ﬁ
3.Six/9:

4. Bight / 3T

Correct Answer :-

e Seven/Hld
6) The state that ranks number one in population of Special Tribes is ./ TRty St ot
SIS # R TP RE R g

1. Uttarakhand / STRIES
2. Madhya Pradesh / ¥ TR
3. Chhattisgarh / SUNTG

4. Rajasthan / XTSTR{TT

Correct Answer :-

* Madhya Pradesh / ¥ TG
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7) The term “Silly Point’ is associated with: / XTeg 'Rell Wige’ 399 ke &:
1. Football / Beaid

2. Badminton / é@ﬁl?:f

3. Cricket / fohdpe

4, Tennis / -9

Correct Answer :-

o Cricket/ W

8) Who won the 2016 National Women Premier Chess Championship? / 2016 PI ﬂg’l‘a Higer MR
Traet SRR free sitdl?

1. Padmini Rout / TR} 3Ja

2. Tania Sachdev / AT Ta¢d
3. Humpy Koneru / g BS
4. Eesha Karavade / 3211 6RdTS

Correct Answer :-

« Padmini Rout / Ui ﬁﬂ

9) Who is the Leader of the House in the present Rajya Sabha? / TAHT ISTHHT W FHT BT AdT S

8?2

1. Venkaiah Naidu / 53T dag

2. Jyotiraditya Scindia / HifaRrfec Rifd
3. Ghulam Nabi Azad / JTH sl 3T

4. Arun Jaitley / 3BT SIea

Correct Answer :-

e Arun Jaitley / 32Ul Sieat

10) Ashima leaves from her home. She first walks 50 meters in the north-west direction and then 50 meters
in the south-west direction. Next she walks 50 meters in the south-east direction. Finally, she turns towards

her house. In which direction is she moving?/mmmﬁﬁﬁ?ﬁ%l ﬁm%ﬁwﬂﬂ%’q
o 50 1. Taret @ 3R R aferor-uf2g # so o, gadt 81 39 a1¢ 98 <fémrud fa=m § so . gadi 81
3id #, I8 U+ TR B 3R Gt 71 36 I8 fora fezm H @ vt o2
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1. North — West / ScR-UigH
2. South — West / GI&01-Tigd
3. South — East /E@W-ﬂﬁ

4. North — East/ GER-EI@C

Correct Answer :-

« North — East / 3cR-qd

11) Two dice are thrown simultaneously. The probability of a total of 12 is /?4'.1 WW'\‘ITH% \—rl'l?f%l
P AR 12 3 Pt UG - & RS &

1

36

—
(] R

b
VO |

12) Who is the Chief Election Commissioner of India? / HIRd & 8T AT AT DI 82
1. Nasim Zaidi / € Sicl

2. S'Y Quraishi / T arg =it
3. AK Joti / T Sicil

4. 0 P Rawat / 3N Ut Iad

Correct Answer :-

« AKJoti /TSIt

(5)



13) The final match of the 2016-17 Ranijit Trophy cricket tournament was held in ./2016-17 P

Uit erwl firdre gafde o1 sifaw &= o Safora fopar T ATl
1. Odisha / &M
2. Chattisgarh /fﬁﬁﬂ"’l@

3. Madhya Pradesh /ﬂ?ﬂm

4, Mumbai /Hﬁ'&p

Correct Answer :-

« Madhya Pradesh /rr%zru%&fr

14) In a certain code language, only common ground means mono tono gono, all common people means
tono pla cole, give them all means cea pla tabool. Which is the word for cole in that code language? /TdH
ECIES ﬁg HTyT ﬁ, only common ground T 3] ?f mono tono gono; all common people BT 3 Qf tono pla cole
HW%ive them all BT 3T cea pla taboolEﬁ?lT%l 3'\‘[3%3’ HTIT & coIe%ﬁEﬁT\qWﬁmm
™1 §?

1. ground
2. people
3. them

4. only

Correct Answer :-

« people

15) Which of the following is the newest district of Madhya Pradesh? / =T & & &1 T foram weg ue=n
BT T forem 82

1. Agar Malwa / 3ITIR Hlcdl
2. Dewas / GaM

3. Ratlam /XddH
4. Alirajpur / 3IRTSTYR

Correct Answer :-

e Agar Malwa / 37X HIedl

16) The first State in India to have a separate department for happiness is: / HRd § UYH Iy forad
UG & fore ue 3rert faurT 8:

(6)



1. Rajasthan / XISTRIT
2. Chattisgarh /m
3. Madhya Pradesh / AU

4, Tripura / BQ?I

Correct Answer :-

« Madhya Pradesh /HW

17) Which Indian was elected as president of International Hockey Federation in 20162 / 2016 A frg

URAIT DT AR gios! URIT & A& & U | g1 T UT?
1. KPS Gill /& U g fird

2. Pargat Singh / TRTe Rig

3. Ajay Maken / 3fST HTh+1

4. Narinder Batra /'—-ﬁ'&'aﬁﬂ

Correct Answer :-

« Narinder Batra /WW

18) ISRO's PSLV-C36 successfully carried a remote-sensing satellite named -/ sﬂﬁ Cg

fieauedi-fi36 A Apadigds __ WP b Jg? Hda SUIE BT 96 [Ha1 8|
1. RESOURCESAT-2A / RRfEie 2T

2. CARTOSAT / BIEIIC

3. SARAL / TRA

4. ASTROSAT / TRIRIE

Correct Answer :-

 RESOURCESAT-2A /ﬁ?ﬁ@?ﬂz‘l

19) Complete the series choosing the missing number: / & TG BT YEAT Bl [T BIFOTT:
1,2,3,58,__

1. 11

2. 15

3.9
(7)



4.13

Correct Answer :-

e 13

20) Complete the series choosing the missing number: / T TBAT FADR YT DI GRT DITOTL:
5, 15, 45, 135,

1. 305

2. 405

3.395

4. 455

Correct Answer :-

» 405

21) Complete the series choosing the missing number: / TG TBAT TADR YT DI GRT DITOIG:
121, 225, 361,

1. 441

2. 529

3.484

4. 729

Correct Answer :-

« 529

22) Select the option that is true about the Statements and Conclusions given:
Statements:

All lawyers are doctors

All doctors are engineers

Conclusions:

I. All lawyers are engineers

I1. All engineers are lawyers

| 39 AP &1 I FIoE Sife fu e =) ik Fepul & IR & 981 8:
DY:
Tt 9P ST &

(8)



YT TR FElAOR §
feread:

I. 9} aFta Sonfaar €
I1. 9t SefiffR aala &

1. only conclusion Il follows / Had fpy 1) &WW%

2. only conclusion | follows / Had sy | GH\EITUTWT%

3. neither conclusion | nor conclusion Il follows /:fépfﬁ&?b_ﬁfl aﬁ?qeﬁﬁwﬁ Il WW%
4. both conclusion | and 1l follows /ﬁ'ﬁﬂfl GﬁT 1l aﬁr WW%

Correct Answer :-

« only conclusion | follows / Had fFpy | (ﬂﬂﬂwm%

23) Select the option that is true about the Statements and Conclusions given:
Statements:

All paintings are posters

Some photographs are posters

Conclusions:

I. All photographs are paintings

II. Some photographs are paintings

| 39 AP &1 I+ FIoTE Sife 3T e Sy ik Fepuf & IR & 981 8:
DHY:
Tt ofd M §

DS BICHTE U §

e

I 94 wichne ufén g

II. $ GBI U §

1. only conclusion Il follows / Had py 1) WW%

2. only conclusion | follows / Had fep | mm%

3. neither conclusion | nor conclusion Il follows /71 &1 TAsBY | 3R 7 gt fAew 11 G@TUTW%

4, both conclusion | and Il follows /ﬁ'@ﬁﬁfl 3'?[? Il a:h &WW%

Correct Answer :-

« neither conclusion | nor conclusion Il follows / 7 &1 f45BY | 3R 7 & fAsp 11 GENTUTW%

24) Select the option that is true about the Statements and Conclusions given:

Statements:
©)



Some bags are bottles
Some bottles are glasses

Conclusions:
I. Some bags are glasses
I1. Some bags are not glasses

| 39 famey o1 99 o Sifs fag 7T Syt ok el & av & 98l 3
DY

O T Sad &

EEKIGHEICE

e

L. PO T HAE

II. $ 97 &9 8l &

1. only conclusion Il follows / Fad frsy WW%

2. only conclusion | follows / &Had fTpY | &H\‘:WUTW%

3. either conclusion | or conclusion 1l follows / TT dl fI&pY | AT FAspY || GF;NTUTW%

4. both conclusion | and Il follows / fRT | 3R 11 G} SIFERT B &

Correct Answer :-

« either conclusion | or conclusion Il follows /T dl fshy | a7 fsw e 1) S'IENTUTW%

25) Select the option that is true about the Statements and Conclusions given:
Statements:

All bills are debits

No bills are demands

Conclusions:

I. Some debits are bills

I1. No demands are debits

| 39 fap ey &1 I+ PITE Sife 3w e Syl ik eyl & Ir d 98 8:
DY:

it e e §
e

Iwéﬁeﬁﬁ%
II. $1S feuis SRe a8 &

1. only conclusion Il follows / Fad sy GENTUTWT%
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2. only conclusion | follows / Pdd H&hY | &WW?
3. neither conclusion | nor conclusion Il follows /qéﬂeﬂ%—@fl @T:fﬁﬁﬁ'ﬁlﬂf I WW%
4. both conclusion | and Il follows /w1 3R 11 Gt WW%

Correct Answer :-

« only conclusion | follows / Had (sp | WW%

26) Who is the Supreme Commander of the defence forces of India? / YR & &1 gl
F qdisl HHIST DIF 872

1. President of India / W%Tl’gﬁ
2. Prime Minister / GTHT
3. Defence Minister / J&T H31

4. Chief of the Army Staff / J91 WIH & U@

Correct Answer :-

« President of India / HRd & AFUfd

27) Find the odd one out: / T fquH T HIfoT:
1, 8,13, 20, 27, 32, 37,44

1.8

2.13

3.37

4. 27

Correct Answer :-

28) The Headquarters of North Western Railways is located at: / 3% U3 Yord &1 goIad
gl U &:

1. Allahabad / SAIIBIEG
2. Mumbai /Haﬁ
3. Jabalpur / SIe[c{YX

4, Jaipur / STUYR
(11)



Correct Answer :-

« Jaipur / STUYR

29) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T &I T3 a@r #, T3 FT TH HH IUFIT &1 Tad TS Ug-g:
20,19,17,13,10,5

1. 10

2. 19

3.5

4.13

Correct Answer :-

« 13

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - &} TE gmar #, T 1 TS HH IURRA €| A FA Ugdng:
1,5,9, 16, 25, 36, 49

1. 16

2.25

3.5

4. 49

Correct Answer :-

31) The Gandhi Sagar Sanctuary is located at__. / T AR SHARvg s | f@ﬁ%l

1. Mandsaur / IIE@T
2. Son /@7[

3. Jabalpur / SI&[¢TYX
4. Rewa /X1l

Correct Answer :-

+ Mandsaur / W
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32) If GOLDENis coded HNPZLG, then how is PLATINUM coded? ? | Gf¢ GOLDEN & HNPZLG
A HIfSa foar sra1 8, O PLATINUM ) $A Hifed fHar smam?

1. QKEPQGFC
2. QKESPHEC
3. QKEPPGEC

4. QKEOPGFD

Correct Answer :-
o QKEPPGEC

33) If HILLOCKis coded HOCLILK, then how is CURTAIN coded? | Gfé HILLOCK &Y HOCLILK
A HIfST BT A1dT 8, df CURTAIN &) A HifSd fopdm S

1. NIUCTRA
2. ARTICNU
3. AICUNRT

4. CAITURN

Correct Answer :-

¢ CAITURN

34) The Indian Institute of Soybean Research is located in . | $TeT $tege 9w
Ararei e TreY A A 21

1. Gwalior / TATICIAR
2. Indore / $'é|?

3. Agar Malwa / SITIR HledT
4. Dewas / AT

Correct Answer :-

. lndore/g_fﬁ'\r

35) Complete the series choosing the missing letter/s: / &l &R /&R ?bafﬂT-IW et C| T PIforg:

Im_mn_n_ml_n
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1L.LL1Lm
2.n, 1,1, m
3.m, 1 n

4.1,1,m,m

Correct Answer :-

e nlI,m

36) Omkareshwaris asacredislandonthe ____ River./ Gﬁ?ﬁ'ﬁ%l? HE&W U LIGE] 'gﬂ'q %I
1. Narmada / THaI

2. Omkareshwar / W%R

3. Tapti / Tt

4, Gomathi / Mt

Correct Answer :-

. Narmada/:mal

37) How many different 6 digit numbers can be formed from the digits 5,2,1,4,6,7 ?/ 3l 52,1,4,6,7 @

fopat -l @1 ey ffia ot ol 82
1. 600
2. 520
3.720

4. 480

Correct Answer :-

38) In a certain code language, bright little boy means 234, tall big boy means 256, beautiful
little flower means 748. Which is the number for brightin that code language? / T W™g BIS
UTST H, bright little boy 1 3 234; tall big boy 1 344 256; beautiful little flower 1 3Y 748
BT 81 59 IS HIWT | bright & T {5 si &1 s%awTa foham T 872

1.3

2.5
(14)



3.4

4.2

Correct Answer :-

« 3

39) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

/ g uy ¥ Rl F 7o wgg R e g, Rrd A U & Siser A wft ve gurar welkid wra €
i T 399 fUT §1

T fauw i S
1. EHL
2. CFI
3. DGJ

4. BEH

Correct Answer :-

« EHL

40) Which freedom fighter is also known as "Desh Bandhu"? / f&d T&@ar 9+ &t "é’-‘l’lﬁ"‘g{" &
AT | ST STt 82

1. Chittaranjan Das / e T
2. KC Singh /& It Rig
3. Rajaram Mohan Roy /XTSIl HHRA

4. AO Hume / T 31 894

Correct Answer :-

« Chittaranjan Das / RIS a0

Topic:- Mental Ability and Mental Aptitude

1)

(15)



In the sequence shown below, which figure comes next? / A Te3r IR &H #, el

(16)



The sum of the ages of Abigail, Jennifer and Margaret was 52 three years back. Four
vears back, Jennifer, who is a year younger than Margaret, was 1% times as old as

Abigail. The sum of the ages of Jennifer and Margaret two years hence will be /

3Terdter, SIfeHY T HAHiE T el I o a9 g 52 off| =X a9 qq, SIawy, S #die
TS av o o, JEEe ¥ 1% A7 a9 off| I & a9 g% SAw] 0d AT B $e 36
Blai:

1.51

2.48
3. 47

4. 49

Correct Answer :-

. 49

If the following two sguares shown below overlap, which one of the following optlions

is formed? / It Fa 21 @91 Aot gl & o BFa & O ol @1 v feeT =0T &7

=

=

l
4

(17)



k=

4,

Correct Answer :-

“ In the sequence shown below, which figure comes nexi? / AT T¢I TR &H #H, eIl
Y o b J
1
i i il e
i
1. Vs
i
2. |

(18)



|
1

Correct Answer :-

5) On a certain day, when the Forex indicated that 1 USD was equal to 45 INR and 1 INR was equal to 3
Yen, I had 21,000 INR saved up with me; out of which, I purchased USD 200 and utilised the rest of the
Indian currency to buy Yen. How much Yen did I have after the transactions? / Y BIEGACS] ﬁ, ol

R 1 Hord fear fb 1 MR STaR 45 HRAI TUT & SRTER YT 3R 1 3YAT 3 A & SRIeR AT, A4
3T UTH 21,000 FUY =TT &; o0 T 79 200 3MRPT STeR W, aU1 39 Wiea & forw 2w
YRAR G&T &1 TN fomar| a-ied & d1g 3R Uiy fram a9 82

1. 63000 Yen / 63000 T
2. 36000 Yen / 36000 T
3. 45000 Yen / 45000 T

4. 54000 Yen /54000 T

Correct Answer :-

« 36000 Yen /36000 T

6) Three years ago, a father was eight times as old as his son. In three years time, if the father's age
exceeds twice his son's age by six years, then, the ratio of their present ages is IGiGEL Uﬁ@ foar sra=
TF Y 9 BT 313 A1 47| i a6 916, A AT H ST F A ST ©: auf A @ et 2,
D! AT 3T BT ST &

1.13:2
2.12:6

3.19:5

(19)



4.14:5

Correct Answer :-
e« 19:5

7) Total 16 carpenters can make 4 tables in 2 days. Six carpenters worked for 6 days and then left.
Continuing their work, how many carpenters are now required to complete 10 tables in 4 days from now.

| P 16 T3 2 f&T # 4 Al &1 FFwior 53 Iod €1 6 9635 6 e F R s Fa S wa Bls ¢ B
PTH SRY TW T, 39 4 faA1 & 10 790 &1 fAuior 31 & e fpam T34l &1 sirazawar siil?

1. 12
2. 11
3.13

4.8

Correct Answer :-

o 11

8) The radius and the height of a right cylinder are each increased by 5%. What will be the percentage

increase in the Volume?/wmﬂaﬁqﬁﬁm?ﬁﬂmﬁﬁs% Wﬁ%g@ﬁﬁ?ﬁ%l
e # foram ufersra 9t gfg gnfie

1. 5%
2.12.5%
3. 15.76%

4. 15%

Correct Answer :-

o 15.76%

9) A person can do a piece of work in 12 days. After working alone for 4 days, he hires a helper and both
of them together complete the task in 6 days. How long would it have taken for the helper to alone to

complete the given task?/wmww?ﬁ 12 ﬁ_"ﬁﬁWWT%l 4%%%“@%
TTd, 9 TP WD B YIS T I&CT ¢ Td 41 freren 30 &1 31 6 fa=l & 1 wear § | Geras
GRT 3I BT BT b PRI B & (¢ fora- Tva B saxgewdr gidl?

1.72 days /72 faa1
2. 38 days /38 fa

3.17 days /17 &=
(20)



4. 36 days / 36 11

Correct Answer :-

. 36days/36feT

10) A can do a certain job in 16 days. B is 60% more efficient than A. How many days does 'B' alone
take to do the same job? / A Tt T @ 16 Fa= & &% TPHa1 81 B, A B AT H 60% 31fUF g&r 21
I BRI P B GRT 3pd RTHIA & o€ fovam a1 ot smazasmar snft?

1. 6 days / 6 fa
2. 8 days /8 faT
3. 12 days/ 12 &

4.10 days / 10 fa

Correct Answer :-

e 10days/10feT

11) A's salary is 30% more than B. B's monthly income is 20% less than that of 'C". If the difference
between the incomes of A and C is 800, then what is the monthly income of B in rupees? / A I JaIB Y

30% 3fUF §1 B B HIRE 3T 'C' B JAT A 20% HH 21 Al A TUT C B 3T & T 800 FT 3aR
2, d1 B 9 AIRY® 3 $UT § 1 32

1. Rs. 18,000
2. Rs. 20,800
3. Rs. 20,000
4. Rs. 16,000
Correct Answer :-
« Rs. 16,000

12) Ajith is twice as old as Arjun was two years ago. If the difference of their ages be two years, then

what is the present age ofAjith?/Wﬁwaﬁﬁﬁﬁiﬂ,mﬁmwaﬂ:ﬂﬁl afe
ITP 3Y BT 3R 31 T &, A 31ra &) adar 3y = |2

1. 6years/6a'5f
2.5 years/Sa'Gf
3.3 years/Sa'Ef

4. 4 years / 49y

(21)



Correct Answer :-

. 6years/6a'5f

13) Pramod purchased 40 shares of XYZ company for Rs. 3,000, and later bought 45 more at Rs. 3,600.
At what price should he purchase 15 additional shares, so that the average cost of the shares is Rs. 90

each. / THIG ¥ XYZ BT F 40 TR 3,000 TUT § WIS, 3T 1 # 3,600 TUT H 45 AR 3R @S|
39 3R 15 Srfaiad TR 5 FIAd W) WIgA BT, a1fh [aR P i d aRTd 90 % Ufd AR 811

1. Rs. 2,200 /2,200 ¥YU
2. Rs. 2,400 /2,400 ¥YU
3. Rs. 1,400/ 1,400 ¥UU

4. Rs. 3,050 /3,050 ®UU

Correct Answer :-
¢ Rs.2,400/2,400 30U

14) A daughter is 30 year younger than her mother. Two years back daughter's age was one-sixth of the

age of her mother. Find their present age. /Waﬂ'ﬁw 3g=Y AT | 30 arcfm:r%l a’ra&gﬁaﬁaﬁ
S D! Al BT IH DT TH-BSAl YN YTl SAD! qaid= Y J7d D |

1.4,34
2.8, 38
3.1,30

4.2,38

Correct Answer :-

15) The average temperature on Sunday, Monday and Tuesday was 35 degree. The average temperature
on Monday, Tuesday and Wednesday was 34 degree. If the temperature on Wednesday was 37, what was

the temperature on Sunday? /?ﬁﬁ'ﬂ' W@Wﬁﬁ 3N g 35 F$3 U1 @Tﬁ'ﬂ
W@gwﬁaﬁwmmﬁtﬁw gfe FEAR P araqT 37 {330 o, AR
ATIHT T AT?

1. 40
2.33
3.37

4.32
(22)



Correct Answer :-
e 40

16) The average of eight numbers is seven. If the average of the first seven of the numbers is five, what is

the seventh number? / (TS ST BT A AT g1 A UgS ATd T 1 3T urd g, o Ardal
T T 82

1.21
2. 16
3.26

4. 11

Correct Answer :-

17) The average of three numbers p, q and r is X. Then, what is the average of p, q r and X? ik
TBT3Y p, q TUT r BT FA X B 1 A p, q, r AT x BT 3T FT G2

Xid
1.

;
5. X2

3.X

4.2X

Correct Answer :-
¢« X

18) Train A takes 50 seconds to overtake train B. They cross each other in 20 seconds. The lengths of the
trains A and B are 160 m and 240 m respectively. What is the difference in the time taken in seconds by

the two trains to cross a bridge 420 meters long? / anan ¥ 3t e & e 50 '\Qﬁﬁ?ﬂ%’l q
20 TS H TP O B UR BRI ¢ 1 o1 A Td B P AXTS HHTT: 160 Tiex T 240 Hex 71 TH 420
HIeR Jd Pl UR H & [ ¢ A Td ¢ B §RT 1T 1T 99T FT SR Abs | 1 g2

1. 68.57 secs
2. 28.18 secs
3. 38 secs

4. 45.57 secs
(23)



Correct Answer :-

e 68.57 secs

19) Two numbers are in the ratio 3 : 5. If each number is increased by 10 the ratio becomes 5 : 7. The
larger number is: / 1 TWATY 3 : 5 P JUTd A T 1 AfS TS G= A 10 F1 gfeg B ATl &, 1 U 5
: 7 G I 8, Y ST WS §:

1. 15
2.25
3.49

4. 35

Correct Answer :-

20) A walks at 4 kmph and 4 hr after B cycles after A at 8 kmph. How far from the start does B meet A?
/ A TH RIT ¥ 4 fHdt i ¢ 3t 71 & Uga IoT 3MRY BT § T4 $9P 319 4 U¢ 916 B S RIH
¥ 8 fptft ufa o2 o) ara A Wrsfed Tamr SRY FRarg | B YT R A fraft g ww A d
foreranr 82

1. 28 km / 28 fHT
2.32 km /32 fdt
3. 20 km / 20 Tt

4. 24 km / 24 fomt

Correct Answer :-
e 32 km /32 fHHt

21) A biker rides to a place that is 100 km away at an average speed of 30 kmph and returns at an
average speed of 60 kmph. What will be the average speed of the whole journey? / Y& dIgdR 30 et
wia geT @1 3ia I1a A 100 fFH R TH R B 3R TaR F3a1 8 T 60 freht ufay 58 3t sira
T | die ofrar 8 | I O ot 3id e Rt gRile

1. 40 kmph / 40 Tl Ufd ©eT
2. 50 kmph / 50 T4 U ger
3. 55 kmph / 55 Tt Ufd HeT

4. 45 kmph / 45 Too®i! Ufd ©ieT

(24)



Correct Answer :-

« 40 kmph / 40 foodfl Ufd der

22) Find the result when 1,200 is decreased by 30 %. / SId 1200 H 30% Bt HHI ?I?ﬁ %, ¥ gfom I
Ead

1. 830

2. 740

3.850

4. 840

Correct Answer :-
« 840

23) If apples are bought at the rate of 30 apples per rupee, how many apples must be sold for a rupee so

as to gain 50%? / Tf¢ 30 AT, UTd TUT FI &2 F WIS §I4 &, a1 fpaq TuT # A9 H1 991 1 A1,
ATF 50% BT ATH U B TP?

1.45
2.20
3.25

4. 60

Correct Answer :-

24) The difference between the squares of the ages of Rahul and Rohan is 4400. If the sum of ages of
Rahul and Rohan is 100 then, find the age of the younger among the two. / Jgal Ud e B IY P T
@ I BT 3R 4400 T 1 A G MR g DI U BT AT 100 §, A1 1§ I SNl BIST 5, SHDI 3G
BIG kR

1.24

2. 82

3.28

4.72

Correct Answer :-

(25)



» 28

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ Fra fd M R et # 9 2 63 ™ va & Sto aae o 91 0 81 82

Richard,
39 Scott Street,

2170 Liverpool, Australia

(i) Richard,
39 Scott Street,

2170 Liverpool, Australia

(ii) Richard,
39 Scott Street,

2170 Liverpool, Australia

(iii) Richard,
39 Scott Steeet,

2170 Liverpool, Australia

(iv) Richard,

39 Scott Street,

2170 Liverpool, Australia
1. iii

2.1v

3.ii

4.1

Correct Answer :-

o il

(26)



26) Ramdin sold one lot of bananas. The first 20% were very good in quality, and were sold
at Rs. 20 per dozen, half of the rest sold at Rs. 15 per dozen, and rest at Rs. 8 per dozen. If he
earned total Rs. 1,980 from selling the whole lot, how many bananas were there in total? /
I A A BT TH WU 9Tl | TS 20% TUIGT J g 3 &, TUT 20 FUT Ui goi 3t & I fawp
Y1 AT P ATUT 15 FUT U gol 9T AW 8 YT Ufd goid @1 o3 | fe w1 afe 399 T WY 9w
1,980 U3 ifofa frdl, at o fva Fa A2

1. 1200
2. 1800
3.120

4. 150

Correct Answer :-
« 1800

27) Find the value of x and y in the equation 3x + 5y = 200, 3x — 5y = 100. / FHIHRUT 3x + 5y = 200, 3x — 5y =
100 ® x Td y & A 19 HI

1. 50, 10
2.1,0
3.1,1

4. 40, 10

Correct Answer :-

28) Find the average. / 3Na R
12,17, 25, 38, 40 & 60

1.26

2.29

3.32

4.35

Correct Answer :-



29) A motor runs for 3 mins and then stops to cools down for 2 mins. For each minute, it consumes 1.5 units
of electricity. In 4 hours, how much electricity would it consume? / Wiﬂa 3fFe® ﬁﬂ'{ Tedl % 3R
2 firre & forg wria & irar 81 v fimie 9, 9% 1.5 gfte fawiell @1 Suai wrar g1 4 1§, gg et
faetelt @1 SUHRT BRI

1. 144 units / 144 G{IC
2. 216 units / 216 C
3. 388 units / 388 T

4. 312 units / 312 gfIC

Correct Answer :-

« 216 units / 216 I

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 9 &Y T g ®, 31&RY 3R TS} *1 U v Hfed & | Terd Halol ugni-u:

i.kjgqb20101gbgjk
ii.kjgqb20101gbgjk
jii.kjgqb20101gbgjk
iv.kjgqb20111qbgjk

1.1

Topic:- Science and Simple Arithmetic

1
) Express as a rational number of the form p/q : {é} -1 (%)‘1}'2 / pigq & T H IRHAT HEAT ® FaEd

#* mmw e {Q)7- (D72

64

1. 25

(28)



2)
In the adjoining figure, AB || CD. If ZABE =40  and £CDE = 75°, then the value of 'x'is: / =& = #H,
AR || CD. @& £ABE =403 £CDE=75", @ 'x' &1 H= e

A —» B
E <i X
C "= » D
1.105°
2. 115°
3. 190°
4. 280°

Correct Answer :-

o 115°

3)

gr gr
A0.064 2 A0.064
x ¥0.001 /

Fo.008 Fo.008 x ¥0.001 @1 ger &

Evaluate :

1. 0.002
2.0.08
3.02

4.0.8

(29)



Correct Answer :-

« 0.2

4) Neutralisation reaction always produce: / e yTas srfufesar ﬂ'a'd I Bl %z
1. An acid and a salt / Udh &I dYT Udh IdU[

2. An acid and a base / Udh 3] dYTUD &R

3. A salt and water / Uk ¢IdU[ dUT wie]

4, A salt and a base / Uh AU dYT Uh &R

Correct Answer :-

o A salt and water / Tb IdUI YT O

5) If a table of marked price Rs. 2650 is sold for Rs. 2120 after allowing a certain discount, then the rate

of discount is: / 2650 TUY 3ifhd Yeur arelt At ®1 foel i Fe & a1g 2120 U2 F &1 <1 8, ) ge 3t
&

1. 15%
2. 10%
3.20%

4. 18%

Correct Answer :-

6) Two numbers are such that the ratio between them is 4:5. If each number is increased by 8 and the
ratio between the new numbers so formed is 6:7, then the smaller original number is: K| JE=¢ 39

UPR & fob 37 WL BT 3UT 4:5 8 1 TS UAP T 8 | 971 <1 e <) Al =8 Temei & wen
SUT 6:7 BYaT 8, Y BT & T gHM:

1.24
2. 16
3.28

4.20

Correct Answer :-

« 16
(30)



7) What must be added to 16x* - 24x +5 to make it a perfect square? / 16x2 - 24x +5 &I qﬁaﬁwﬁ &

fore o @ SigeT =Y
1.3
2.6
3.5

4.4

Correct Answer :-

8) ABCDisa rectangle whose diagonals AC and BD intersect at 'O".If ZOAB = 32°, then LOBC =
./ ABCD T 31Id g forad fawof Ac oiR BD fig o' W ufa=sfea #va 81 afg 2oaB =32°, <t

20BC=___ 1
1.62°
2.72°
3.48°
4, 58"

Correct Answer :-

. 58°

9) At what rate percent will a sum of Rs. 8000 amounts to Rs. 9261 in 3 years? / 8000 Fﬁﬁﬁﬁm

ToT &2 IR 3 U1 § 9261 FUY B SIGA?
1. 10%

2.20%

3.5%

4. 4%

Correct Answer :-

(31)



In which one of the following mediums does sound travel the fastest? / ARG d | I TP T ATHH H
eaf= e oot AT Bl §2

1. Water / oIl

2. Air /dIg
3. Vacuum /ﬁﬁfﬁ

4, Steel / SId

Correct Answer :-

« Steel / WId

11) The main component of natural gas is: /U@ﬁa; T BT qJ8 Uch %:
1. Oxygen / SHRfTST

2. Methane / H12+

3. Carbon monoxide / T& Ih:ﬁ\’:{\fa'\qﬁ"g

4. Carbon dioxide / PTE SISIHRIRE

Correct Answer :-

e Methane / Iﬁa:f

12) The least number which must be subtracted from 20184 to make it a perfect square is: / 20184 ek

I8 DI Ul BIT A DI ST IeTE T & I8 Yol a¥f o 1e:
1.34
2. 14
3.20

4. 30

Correct Answer :-

13) Which cell organelle is commonly called ‘cellular housekeeper’? / P | BIRAPT 3TH I ATHRIG:
BRI TSP’ BT oATdT 872

1. Lysosomes Kﬂ%@'{ﬂﬂ
2. Ribosomes / ?qu

(32)



3. Mitochondria /ATSciobi~sdT
4. Golgi apparatus / Tieolt SUHRUT

Correct Answer :-

* Lysosomes K’ﬂ%?n@'q

14) A sudden shaking or trembling of the earth which lasts for a very short time is called . q%'cﬁ Pl
AT AT 3HYAT HIUT St 95 81 $H TG F e ¥gar g, sS4 CIICIGIE

1. Hurricane / T4
2. Earthquake / &b U

3. Tornados / Id&X

4. Cyclone / déhdld

Correct Answer :-

« Earthquake / YU

15) Which of the following is NOT true about tissue? / SdP & aﬁﬁﬁﬂﬁ@rﬁqquﬁ%?
1. Packed and held together / T T1Y Teb BT qUT 3T ST
2. Only one tissue in a multicellular organism /aﬁaﬁwﬁﬁaﬁww Sddb @:IT

3. Do the same function / Tdh HHH BT B!

4. Look the same / Y HHT faaT

Correct Answer :-

¢ Only one tissue in a multicellular organism /mﬁﬁaﬁ Had T Hdd gll
16) Identify the wrong match. / TTdd e &I ﬁl‘%ﬁ ﬁl

1. Permanent tissue = sclerenchyma / @ﬂg $Hddh = W

2. Photosynthesis = carbon dioxide fixation | UHTR] TRV = W@gm IEUGE

3. Arenchyma = localized thickening / TX-RIZHT = RITH® UG

4. Parenchyma = thin walled packing cells / Hgd® = gae ffxy arelt Ui SifRrem

Correct Answer :-

« Arenchyma = localized thickening / TR=hTZHT = RITH® WG



17) To get the rainbow colors (VIBGYOR), the white light is to be passed through an optical
device known as: / SEUJY & 3T (VIBGYOR) UTW HA & 1T, Tad UHT B TH YHIRIT SUST
¥ ATeH | ORI USdl §, Sl P g

1. Lens /A9

2. Glass slab /Wﬁq@
3. Mirror / GUUT

4, Prism / T

Correct Answer :-

« Prism/TUSH

18) Find the quotient when (ax2 + cx + abx + cb) is divided by (ax + c). / (ax? + cx + abx +
cb) B (ax + ¢) ¥ U ¢ TR HUFTHS FTd He |

1.x+c
2.x+b
3.ax+b

4. b+c

Correct Answer :-
e X+Db

19) PQRS is a parallelogram whose diagonals PR and QS meet at 'O'. If OS = 18cm, OP =
12cm, OQ = x + y and OR = y + 4, then the values of 'x' and 'y' are and , respectively.

/ PQRS U& THiaR g4 & orad ol PR 9T @s g '0' w firerd €1 a3 os = 188+, op =
1294, 0Q =x + yTUTOR =y + 4, A1 'X' MR 'y FAFHH: ___ 3MR__ &l

1.12,6
2.8,4
3.8,6
4.10,8

Correct Answer :-

« 10,8

(34)



Identify the antibiotic whose source is a fungus. / 39 AR D DI UgdE B ST HAld
LSk

1. Penicillin / OFRRfeH

2. Tetracycline /CCIRaIM

3. Streptomycin /@@ﬂ'ﬁﬁlﬁ

4. Erythromycin / TRARRA

Correct Answer :-

¢ Penicillin /ﬁﬁﬁﬁﬂ

21) Milk production in cows is determined by ./ T fr’gnr I F GRT
it favar smar 21

1. health of the cows / T} BT WY
2. nutritional needs of the cows / T} P UIYUTST STexd
3. resistance to diseases / I & TRy

4. increased lactation period / ql@a [RERE AN

Correct Answer :-

« increased lactation period / giad GREAU Bl

22) The total surface area of a cube whose edge is 12cm is: / 12 9HI, B aTd 9 BT P Yt

&}ﬁmﬁl @TIT:

1. 648cm? / 648 T T,
2. 836¢m? /836 T T,
3. 672cm? / 672 T T,
4. 864cm? / 864 T J.

Correct Answer :-

o 864cm? /864 T TT.

23) To reduce the electric current in a circuit: / T ufvuy # ﬁg‘qa URT H HH A & ﬁl‘E =
P forar ira 8:

(35)



1. A resistor should be connected in parallel with the circuit / T UIaRIHUD DI TRUY o Y FHIR vH H
SISl ST A1 T

2. A resistor should be connected in series with the circuit / Th UfRIY® o TRIY & 1Y U HH H o S

ST @R

3. A good conductor should be connected in series with the circuit / T 3 IS DI GRTY & 1Y It Y
A el 51 A1 Tl

4. An insulator should be connected in parallel with the circuit / Tdh EE?ET &1 URUY & I IHIAR HH H
ST ST A1 T

Correct Answer :-

« A resistor should be connected in series with the circuit / me P ONTY & TY T HHH Sl
EIEIGIHY

24) Which part of the cell help in control of all the activities of the cell? / PIRET B I
TR St F=0 H | AT B HIRABT BT DI AT R Heg Hal 82

1. Golgi bodies / TTeSl BT
2. Nucleus / NS

3. Vacuole / TTYHT

4. Mitochondria / H 33-]$VII%ACII

Correct Answer :-

« Nucleus / TTHE

25) You are aware of Polio Eradication Programme in your city. Children below the age of

five years are vaccinated because: / 3TU 39 6% & MR 3@ Srdwd A kg g1 ura af
Y FY Pt 3T S TN BT SIHTHI0T {HaT STaT § RSP

1. Prevents the entry of polio causing organism only /WWWﬁﬁﬁ-@ﬁ%mﬁm%l

2. Vaccination kills the polio causing micro-organisms only / Wﬂmmwwﬁﬂﬁﬂa‘rﬁ
AR AT

3. All the above /B'Cléaﬂ it
4. Vaccination creates immunity in the body only/ %ad AlbTHUN TRR H HfeRE I &l g

Correct Answer :-

« Allthe above / SUJad Gt

(36)



If the length of a chord is 20cm and its distance from the centre is 24cm, then the diameter of the circle is: /

gfe Sitar t avaTs 20 T § iR s A @1 g1t 24 A §, T 9T T ART I
1. 26cm /26 AT,
2. 36cm /36 JHI.
3. 48cm / 48 T,

4. 52¢m / 52 T,

Correct Answer :-

o 52cm /52 9

27) A wire is in the shape of a square of side 12cm. If the wire is rebent into a rectangle of length 14cm, then

the area of the rectangle is: / b dI¥ 12 . Wﬁﬁ%mﬁ%l trl%aﬂa?r 14%.313@3[%
3T T v I AST W1, af Simad $T &% gRI:

1. 96cm? / 96 T T,

2. 102cm? / 102 I T,
3. 124cm? / 124 T I,
4. 140cm? / 140 T T,

Correct Answer :-

o 140cm? /140 T L.

28) Though polyester is a synthetic fibre, yet it is easier to wear in summers than other

synthetic fibres like nylon because it: / BTAIP UIERR Th HIRAC o &, 9 Wt 98 A15ar g
3= TfReree dgei Ft gerqm & vt & ugeH # S gt @ Fiif us:

1. Is chemically reactive / XHUd: HfNfasia Bﬁ?ﬁ%l
2. Is light weight and has good elasticity / doI- T gopt 3R 3T YT Bl g
3. Is water proof / Slcl JYbd a?ﬁ % [

4, Does not catch fire / Wﬁmﬁ%l

Correct Answer :-

» Is light weight and has good elasticity / dsi- T gt 3R 3T Y=Y gl %l

29) Among the breeds of cow mentioned below, which is an indigenous breed? / {54 aftfa
MY F 01 |, P A THeRiy T 82

(37)



1. Karan / &R0]

2. Holstein / 6 T
3. Jersey / it

4. Sahiwal / Gfgard

Correct Answer :-

« Sahiwal / gfgard

30) The marks obtained by 20 students are as follows:
96, 75, 66, 35, 15, 88, 34, 44, 78, 52, 22, 6, 8, 92, 61, 45, 21, 39, 98, 89.

If the magnitude of each class interval is 10, then the number of class intervals required to
represent the above data in a grouped frequency distribution table should be .

/20 BT gRT 9T fHU U sis A= &
96, 75, 66, 35, 15, 88, 34, 44, 78, 52, 22, 6, 8, 92, 61, 45, 21, 39, 98, 89.

Tfe Ud® I SRTA BT URHTN 10 7, T STHE SHiPp S| Bl qiipd IRIRAT de- et &
Frefta #v & e smaxas ol srvTel @t 9= giHl Tifeu|

1.8
2. 10
3.6

4.9

Correct Answer :-

(38)



